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Глава VI. Методы исследования математических моделей  

                 §4. Метод малого параметра. Сингулярные возмущения 

 

 

0 0 0(25) F (t) F f (y (t), t) 0 (26)     

0 0 0 0 0 0 0( ) ( (0) ( ),0) ( (0),0) ( (0) ( ),0) (30)       F F f y П f y f y П

0 1 0 1(21) (0, ) (0) (0) (0) (0)          y y y П П  

0 0 0
0 1 (31)y y y     

0
0 0 0(31) (0) (0) (32)П y y    

0
0 0 0

0
0 0 0

(28) ( ) ( (0) ( ),0), 0, (33)

(32)
(0) (0) (34)

dП
f y П

d
П y y

  


    
  

F
 

0
1 0 0 0 1

( )
(27) ( ) ( ( ), ) ( ) (35)   

  
     

   y

dy F t f y
F t f y t t y t

dt y  

1
1 0 0 0 0 0 0

( )
(29) ( ) ( (0) ( ),0) ( (0),0)   

     

  
      

  
F

F y y

dП t y y
f y П f y

d

0 0 0 0 0( (0) ( ),0) ( (0),0) 
  

 
  

 t t

t t
f y П f y

 

0 1
0 0 1

( ) ( )
( (0) ( ),0) ( )y

y yt t
f y П y

t t

   
 

    
          


 

0 1
1 2 0 0 1 0

( ) ( )
( ) 2 ( ) ( (0),0) ( )y

y yt t
П П f y y

t t 
     

  

   
            

0 0 0 0 0 0 0 1( (0) ( ),0) ( (0),0) ( (0) ( ),0) ( )t t y

t t
f y П f y f y П П   

  

 
     

 
0 0 0 0 1 0 0 0( ( (0) ( ),0) ( (0),0)( (0) (0)) ( ( (0) ( ),0) ( (0),0))y y t tf y П f y y y f y П f y          

23  22

 



  2

 

18 

 

0 0 1 1( (0 ) ( ), 0 ) ( ) (36 )yf y П П Q   
 

0 1 0 1(31) (0, ) (0) (0) (0) (0)y y y П П          
 

0 0 0
0 1y y y    

 

0
1 1 1(0) (0) (37)П y y 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



  3

 

 

Цепочка решения: 
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